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Multiplication with Multiples of Ten Name:
Solve each problem. Answers
1 47 2) 25 3) 29
x 90 x 80 x 60 -
2,
3,
4) 91 o) 96 6) 82 4
x 60 X 80 X 20
5.
6.
7.
7) 55 8 94 9 34
X 30 x 10 X 50 8.
9.
10.
10) 76 1) 62 12) 84 "
x 80 x 80 x 70 '
12.
13.
13) 51 14) 95 15) 49 14.
X 30 X 30 x 10
15.
16.
17.
16) 66 17) 59 18) 62
X 20 X 30 X 40 18.
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Multiplication with Multiples of Ten Name:. Answer Key
Solve each problem. Answers
1) 2) 3)
47 25 29 . 4,230
X 90 X 80 X 60
0 0 0 > 2,000
+4,230 + 2,000 +1,740
4,230 2.000 1,740 3 _ 1,740
4 91 5) 96 6) 82 . 5,460
X 60 X 80 X 20
5 7,680
0 0 0
+ 5,460 + 7,680 + 1,640 6 1,640
5,460 7,680 1,640
7 1,650
7) 55 8 94 9 34
x 30 x 10 x 50 8 940
0 940 0
+ 1,650 +1,700 o 1,700
1,650 1,700 . 6,080
10 11 12
) 76 ) 62 ) 84 n 4,960
X 80 X 80 X 70
0 0 0 12. 5,880
+ 6,080 + 4,960 + 5,880
6,080 4,960 5,880 1 1,530
13) 51 14) 95 15) 49 14. 2,850
X 30 X 30 x 10 5 490
0 0 490
+ 1,530 + 2,850 16. 1,320
1,530 2,850
17 1,770
16) 66 17) 59 18) 62
x 20 x 30 x 40 18, 2,480
0 0 0
+ 1,320 + 1,770 + 2,480
1,320 1,770 2,480
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